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2. All questions carry equal marks.

3. Attempt all questions.
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Question Booklet and ensure that the Question Booklet Series is printed on the top
right-hand corner of the Booklet. Please check that the Booklet contains 32 printed
pages including two pages (Page Nos. 30 and 31) for Rough Work and no page or
question is missing or unprinted or torn or repeated. If you find any defect in this
Booklet, get it replaced immediately by a complete Booklet of the same series.

5. If there is any sort of mistake either of printing or of factual nature, then out of English and
Hindi versions of the questions, the English version will be treated as standard.

6. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

7. An Answer Sheet will be supplied to you along with Question Booklet to mark the answers.
You must write your Name, Roll Number, Question Booklet Series and other particulars
in the space provided on Page–2 of the Answer Sheet provided, failing which your
Answer Sheet will not be evaluated.

8. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint
pen in the space provided on Page–2 of your Answer Sheet. If you do not encode or fail to
encode the correct series of your Question Booklet, your Answer Sheet will not be
evaluated correctly.

9. Questions and their responses are printed in English and Hindi versions in this Booklet.
Each question comprises of four responses—(A), (B), (C) and (D). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. In case you feel that there are more than
one correct response, mark the response which you consider the best. In any case choose
ONLY ONE response for each question. Your total marks will depend on the number of
correct responses marked by you in the Answer Sheet.

10. In the Answer Sheet, there are four circles— and against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle
of your choice for each question. Select only one response for each question and mark it in
your Answer Sheet. If you mark more than one circle for one question, the answer will be
treated as wrong. Use Black/Blue ink ballpoint pen only to mark the answer in the
Answer Sheet. Any erasure or change is not allowed.

11. You should not remove or tear off any sheet from the Question Booklet. You are not allowed
to take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer
Sheet to the Invigilator. Thereafter, you are permitted to take away the Question Booklet
with you.

12. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

13. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be
kept in Self Adhesive LDPE Bag and completely packed/sealed in their presence.

‹`mZ X| : AZwXoem| H$m {h›Xr Í$nm›Va Bg nwpÒVH$m Ho$ Ap›V_ n•> na N>nm h°ü&

Time Allowed : 2 Hours Maximum Marks : 200

A

S
e
ri

a
l

N
o
.

A B C, , D



1. Which State in India is known

for its association with the

‘land of palmyra palm’?

(A) Kerala

(B) Andhra Pradesh

(C) Tamil Nadu

(D) Odisha

2. In which year, cultivation of ragi

started for human civilization?

(A) 2300 BC

(B) 1700 BC

(C) 1800 BC

(D) 3000 BC

3. ‘Grow More Food’ campaign

started in which year?

(A) 1905

(B) 1900

(C) 1947

(D) 1942

4. The One-Straw Revolution “an

attempt to grow food without

resort to modern tool like

fertilizers and pesticides” was

stated by

(A) Dr. Norman Borlaug

(B) Masanobu Fukuoka

(C) Yuan Longping

(D) Dr. M. S. Swaminathan

5. Suitable mango variety for high-

density plantation is

(A) Langra

(B) Dashehri

(C) Chausa

(D) Amrapali

6. Recommended spacing for

meadow gardening is

(A) 1 25 1 25× ´ ×m m

(B) 2 5 2 5× ´ ×m m

(C) 5 5m m´

(D) 10 10m m´

7. Credit is obtained from pawn-

brokers by pledging movable

properties as security refers to

(A) collateral security

(B) hypothecated loan

(C) mortgage

(D) chattel loan

8. Where was the Central

Insecticides Board and

Registration Committee estab-

lished?

(A) Hyderabad

(B) Faridabad

(C) Bengaluru

(D) Bhopal

25/AGS/M–2023–03/13-A 2



25/AGS/M–2023–03/13-A 3 [ P.T.O.

1. ^maV H$m H$m°Z-gm am¡` "nmÎ_ram nm_ H$s

^y{_' Ho$ gmW OwãS>md Ho$ {bE OmZm OmVm h°?

(A) Ho$ab

(B) AmßY´ ‡Xoe

(C) V{_bZmSw>

(D) Amo{S>em

2. _mZd g‰`Vm Ho$ {bE amJr H$s IoVr {H$g df©

‡maß^ h˛B©?

(A) 2300 B©0 ny0

(B) 1700 B©0 ny0

(C) 1800 B©0 ny0

(D) 3000 B©0 ny0

3. "A{YH$ ^moOZ CJmAmo' A{^`mZ {H$g df©

ewÍ$ h˛Am?

(A) 1905

(B) 1900

(C) 1947

(D) 1942

4. dZ-ÒQ¥>m∞ [admoÎ`yeZ ""O°go AmYw{ZH$ CnH$aUm|

H$m ghmam {bE {~Zm ^moOZ CJmZo H$m ‡`mg

Cd©aH$ Edß H$sQ>ZmeH$'' _____ ¤mam H$hm

J`m Wmü&

(A) S>m∞0 Zm∞_©Z ~mabm∞J

(B) _gmZ{~Z \w$Hw$AmoH$m

(C) `wAmZ bm∞›JqnJ

(D) S>m∞0 E_0 Eg0 Òdm_rZmWZ

5. C¿M KZÀd dmbo d•jmamonU Ho$ {bE Cn`w∫$

Am_ H$s {H$Ò_ h°

(A) bßJãS>m

(B) Xehar

(C) Mm°gm

(D) Am_´nmbr

6. _°XmZr ~mJdmZr Ho$ {bE AZweß{gV Xyar h°

(A) 1·25 _r0 ´ 1·25 _r0

(B) 2·5 _r0 ´ 2·5 _r0

(C) 5 _r0 ´ 5 _r0

(D) 10 _r0 ´ 10 _r0

7. {Jadr Xbmbm| go Mb gßn{Œm`m| H$mo gwajm Ho$

Í$n _| {Jadr aIH$a G$U ‡m· {H$`m OmVm h°,

BgH$m VmÀn`© h°

(A) gßnmpÌd©H$ gwajm

(B) ~ßYH$

(C) ~ßYH$ G$U

(D) gßn{Œm G$U

8. H|$–r` H$sQ>ZmeH$ ~moS>© Edß nßOrH$aU g{_{V

H$s ÒWmnZm H$hm± H$s JB© Wr?

(A) h°Xam~mX

(B) \$arXm~mX

(C) ~|JbwÈ

(D) ^monmb



9. The process of karyokinesis

involves the division of

(A) nucleus

(B) cytoplasm

(C) protoplasm

(D) chromosomes

10. In which year was Wealth Tax

imposed on agriculture land?

(A) 1969

(B) 1980

(C) 1959

(D) 1977

11. If X and Y are independent, the

value of regression coefficient

bYX is equal to

(A) 0

(B) ¥

(C) 1

(D) Any positive value

12. On which of the following

chromosomes, holandric genes

are present?

(A) X chromosome

(B) Y chromosome

(C) XX chromosome

(D) XY chromosome

13. Which plant hormone is used

for root initiation in vegetatively

propagated plants?

(A) GA

(B) Auxin

(C) Ethylene

(D) Maleic hydrazide

14. The term ‘ideo-type’ (model plant)

was introduced by the scientist

(A) Vavilov

(B) Donald

(C) Waston

(D) D. F. Jones

15. The world’s largest producer of

vegetables is

(A) USA

(B) Germany

(C) China

(D) India

16. Which fruit is popularly known

as multivitamin?

(A) Rutabaga

(B) Broccoli

(C) Chekurmanis

(D) Zucchini
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9. H°$[a`moH$mBZo{gg H$s ‡{H´$`m _| _____

{d^mOZ em{_b h°ü&

(A) ›`ypäb`g

(B) gmBQ>moflbm¡_

(C) ‡moQ>moflbm¡_

(D) H´$mo_mogmo_

10. H•${f ^y{_ na YZ-H$a {H$g df© bJm`m J`m?

(A) 1969

(B) 1980

(C) 1959

(D) 1977

11. `{X X VWm Y ÒdVßÃ Ma h¢, V~ g_ml`U

JwUmßH$ bYX H$m _mZ hmoJm

(A) 0

(B) ¥

(C) 1

(D) H$moB© ^r YZmÀ_H$ _mZ

12. hm∞b¢{S¥>H$ OrZ {ZÂZ{b{IV _oß go {H$g

H´$mo_mogmo_ na Cn{ÒWV hmoVo h¢?

(A) X H´$mo_mogmo_

(B) Y H´$mo_mogmo_

(C) XX H´$mo_mogmo_

(D) XY H´$mo_mogmo_

13. dmZÒn{VH$ Í$n go ‡d{Y©V nm°Ym| _| OãS> {Z_m©U

Ho$ {bE {H$g nmXn hm∞_m}Z H$m Cn`moJ {H$`m

OmVm h°?

(A) GA

(B) Am∞pägZ

(C) E{WbrZ

(D) _°{bH$ hmBS¥>mOmBS>

14. "AmB{S>`mo-Q>mBn (_m∞S>b flbmßQ>)' e„X {H$g

d°km{ZH$ ¤mam noe {H$`m J`m Wm?

(A) dm{dbmod

(B) S>moZmÎS>

(C) dmÒQ>Z

(D) S>r0 E\$0 Omo›g

15. {dÌd _| gp„O`m| H$m g~go ~ãS>m CÀnmXH$ h°

(A) `y0 Eg0 E0

(B) O_©Zr

(C) MrZ

(D) ^maV

16. H$m°Z-gm \$b _ÎQ>r{dQ>m{_Z Ho$ Zm_ go

bmoH${‡` h°?

(A) ÈV~mJm

(B) ~´moH$mobr

(C) MoHw$a_°{Zg

(D) Vmoar



17. Who is credited with the first

discovery of colchicine?

(A) Wright

(B) Donal

(C) Weisman

(D) Donald

18. What percentage of the total

land area is covered by alluvial

soil?

(A) 24%

(B) 29%

(C) 16%

(D) 21%

19. A coin is tossed six times.

The probability of obtaining

heads and tails alternatively is

(A) 1/64

(B) 1/2

(C) 1/32

(D) None of the above

20. According to root depth, rice,

potato and onion are

(A) shallow rooted crops

(B) deep rooted crops

(C) moderately deep rooted

crops

(D) very deep rooted crops

21. Which of the following is the

example of avicides?

(A) Methyl parathion

(B) Dinoseb

(C) Zinc phosphide

(D) Endosulfan

22. What is the recommended

isolation distance for certified

cotton production?

(A) 40 m

(B) 30 m

(C) 45 m

(D) 35 m

23. Which is a single-seeded

cucurbitaceous vegetable crop?

(A) Round melon

(B) Chowchow

(C) Sweet gourd

(D) Snake gourd

24. A device for measuring

production and leaching losses

from a column of soil under

controlled conditions is known

as

(A) infiltrometer

(B) evaporimeter

(C) pyrometer

(D) lysimeter
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17. H$mopÎM{gZ H$s nhbr ImoO H$m lo` {H$go {X`m

OmVm h°?

(A) amBQ>

(B) S>moZb

(C) drµO_°Z

(D) S>moZmÎS>

18. Hw$b ^y{_ joÃ H$m {H$VZm ‡{VeV ^mJ ObmoãT>

{_≈>r go T>H$m h˛Am h°?

(A) 24%

(B) 29%

(C) 16%

(D) 21%

19. EH$ {g∏o$ H$mo N>h ~ma CN>mbm OmVm h°ü&

d°H$pÎnH$ Í$n go {MV Am°a nQ> AmZo H$s

‡m{`H$Vm h°

(A) 1/64

(B) 1/2

(C) 1/32

(D) Cn`w©∫$ _| go H$moB© Zht

20. OãS> H$s JhamB© Ho$ AZwgma Mmdb, Amby Am°a

fl`mO h°ß

(A) CWbr OãS> dmbr \$gb|

(B) Jhar OãS> dmbr \$gb|

(C) _‹`_ Í$n go Jhar OãS> dmbr \$gb|

(D) ~h˛V Jhar OãS> dmbr \$gb|

21. {ZÂZ{b{IV _| go H$m°Z-gm E{dgmBS H$m

CXmhaU h°?

(A) {_WmBb n°am{W`m∞Z

(B) S>mBZmogo~

(C) qµOH$ \$m∞Ò\$mBS>

(D) EßS>mogÎ\$mZ

22. ‡_m{UV H$nmg CÀnmXZ Ho$ {bE AZweß{gV

AbJmd Xyar ä`m h°?

(A) 40 _r0

(B) 30 _r0

(C) 45 _r0

(D) 35 _r0

23. H$m°Z-gr EH$-~rO dmbr H$‘ˇdJu` g„Or H$s

\$gb h°?

(A) Jmob Va~yO

(B) MmCMmC

(C) _rR>r bm°H$s

(D) {MqMS>m

24. {Z`ß{ÃV pÒW{V`m| _|, {_≈>r Ho$ EH$ ÒVß^ go

CÀnmXZ Am°a {ZjmbZ hm{Z H$mo _mnZo Ho$

CnH$aU H$mo H$hm OmVm h°

(A) Bp›\$ÎQ¥>mo_rQ>a

(B) dmÓnrH$aU_mnr

(C) gmBamo_rQ>a

(D) bmB{g_rQ>a
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25. Which of the following

herbicides used to control weeds

in zero tillage?

(A) Pendimethalin

(B) Fluchloralin

(C) Paraquat

(D) Alachlor

26. Degrees of freedom for

chi-square ( )c 2 test in case of

contingency table of order 4 3´

are

(A) 12

(B) 9

(C) 8

(D) 6

27. Which one among the following

is the predominant species of

cotton grown in India?

(A) Gossypium herbaceum

(B) Gossypium hirsutum

(C) Gossypium arboreum

(D) Gossypium barbadense

28. Spacing for the sowing of

vegetable peas is

(A) 50 25cm cm´

(B) 60 30cm cm´

(C) 30 10cm cm´

(D) 45 30cm cm´

29. The world’s largest exporter of

flower is

(A) USA

(B) Germany

(C) China

(D) Netherlands

30. The term ‘functional’ or

‘metabolic nutrient’ was given by

(A) J. v. Liebig

(B) D. J. Nicholas

(C) D. I. Arnon

(D) None of them
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25. {ZÂZ{b{IV _| go {H$g emH$Zmer H$m Cn`moJ

µOramo {Q>boO _| IanVdmam| H$mo {Z`ß{ÃV H$aZo

Ho$ {bE {H$`m OmVm h°?

(A) n|{S>_oWm{bZ

(B) ‚bwäbmoam{bZ

(C) n°amπ$mQ>

(D) Abmäbmoa

26. 4 3´ AZwH´$_ H$s AmgßJ gmaUr H$s pÒW{V

_|, H$mB©-dJ© ( )c 2 narjU Ho$ {bE ÒdmVßÕ`

H$mo{Q> gßª`m hmoJr

(A) 12

(B) 9

(C) 8

(D) 6

27. {ZÂZ{b{IV _| go H$m°Z-gr ^maV _| CJmB© OmZo

dmbr H$nmg H$s ‡_wI ‡Om{V h°?

(A) Jm∞{g{n`_ h~}{e`_

(B) Jm∞{g{n`_ {hgw©Q>_

(C) Jm∞{g{n`_ Am~m}[a`_

(D) Jm∞{g{n`_ ~m~}S>|g

28. g„Or _Q>a H$s ~moAmB© Ho$ {bE Xyar h°

(A) 50 25cm cm´

(B) 60 30cm cm´

(C) 30 10cm cm´

(D) 45 30cm cm´

29. {dÌd _| \y$bm| H$m g~go ~ãS>m {Z`m©VH$ h°

(A) `y0 Eg0 E0

(B) O_©Zr

(C) MrZ

(D) ZrXab¢S>

30. "H$m`m©À_H$' `m "CnmnM`r nmofH$ VŒd' e„X

{H$gHo$ ¤mam {X`m J`m Wm?

(A) Oo0 dr0 {b{~J

(B) S>r0 Oo0 {ZH$mobg

(C) S>r0 AmB0 AZm}Z

(D) BZ_| go H$moB© Zht
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31. Which of the following is a type

of liquid chromatography that

uses on efficient column

containing small particles of

stationary phase?

(A) Gas-liquid chromatography

(B) Chromatographic matrix

(C) High performance liquid

chromatography

(D) Low performance liquid

chromatography

32. The first State warehouse was

set up in

(A) Bihar

(B) Chandigarh

(C) Ahmedabad

(D) Lucknow

33. Fungi and Disease in Plants was

written in 1918 by

(A) J. F. Dastur

(B) B. B. Mundakur

(C) E. J. Butler

(D) R. Prasad

34. The effective control of late

blight of potato is possible by

use of

(A) sanitation measures

(B) spray of metalaxyl

(C) bordeaux mixture

(D) All of the above

35. Brown leaf spot disease of rice

is caused by

(A) Drechslera oryzae

(B) Cerospora arachidicola

(C) Xanthomonas oryzae

(D) Pyricularia oryzae

36. Drug which can completely

degrade the cell wall of

G-positive bacteria because of

its action on b, 1-4 vintage in

murein acid is

(A) Augmentin

(B) Penicillin

(C) Amoxil

(D) Keflex

37. Kashi Lalima is a newly

developed variety of

(A) tomato

(B) watermelon

(C) okra

(D) carrot

38. The site of oxidative electron

transport in cell is

(A) mitochondria

(B) chloroplast

(C) nucleus

(D) cytoplasm
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31. {ZÂZ{b{IV _| go H$m°Z-gr EH$ ‡H$ma H$s Vab

H´$mo_°Q>moJ´m\$s h°, Omo pÒWa MaU Ho$ N>moQ>o H$Um|

dmbo ‡^mdembr H$m∞b_ na Cn`moJ hmoVm h°?

(A) J°g Vab H´$mo_°Q>moJ´m\$s

(B) H´$mo_°Q>moJ´m{\$H$ _°{Q¥>äg

(C) CÉ-‡Xe©Z Vab H´$mo_°Q>moJ´m\$s

(D) {ZÂZ-‡Xe©Z Vab H´$mo_°Q>moJ´m\$s

32. ‡W_ amOH$s` ^�S>maJ•h ÒWm{nV {H$`m J`m

Wm

(A) {~hma _|

(B) MßS>rJãT> _|

(C) Ah_Xm~mX _|

(D) bIZD$ _|

33. \ß$OmB E|S> {S>µOrµO BZ flbmßQ≤>g, {H$ZHo$ ¤mam

1918 _| {bIm J`m Wm?

(A) Oo0 E\$0 XÒVya

(B) ~r0 ~r0 _wßS>mHw$a

(C) B©0 Oo0 ~Q>ba

(D) Ama0 ‡gmX

34. Amby H$s nN>oVr Pwbgm ~r_mar H$m ‡^mdr

{Z`ßÃU {H$gHo$ ‡`moJ go gß^d h°?

(A) Òd¿N>Vm Cnm`

(B) _oQ>b°pägb H$m Ò‡o

(C) ~moS>m} {_lU

(D) Cn`w©∫$ g^r

35. Mmdb H$m ^yam nŒmr Y„~m amoJ {H$gHo$ H$maU

hmoVm h°?

(A) S¥>oäÒboam AmoamBµOr

(B) goamoÒnmoam Eam{H${S>H$mobm

(C) µOmoWm}_moZg AmoamBµOr

(D) nmB[aHw$bo[a`m AmoamBµOr

36. dh Xdm, Omo _o`y[aZ E{gS> _| b, 1-4 {dßQ>oO

na g{H´$` hmoZo Ho$ H$maU G YZmÀ_H$

~°äQ>r[a`m H$s H$mo{eH$m {^{Œm H$mo nyar Vah go

ZÔ> H$a gH$Vr h°, h°

(A) Am∞Ω_o{Q>©Z

(B) no{Z{g{bZ

(C) E_mopägb

(D) Ho$‚boäg

37. H$mer bm{b_m EH$ Zd {dH${gV {H$Ò_ h°

(A) Q>_mQ>a H$s

(B) Va~yO H$s

(C) q^S>r H$s

(D) JmOa H$s

38. H$mo{eH$m _| Am∞ägrS>o{Q>d BboäQ¥>m∞Z n[adhZ H$m

ÒWb h°

(A) _mBQ>moH$m∞p›S¥>`m

(B) äbmoamoflbmÒQ>

(C) Ho$›–H$

(D) gmBQ>moflbm¡_
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39. Institution which covers

traditional agro-based industries

is

(A) Ministry of Agriculture

(B) Director General of Trade

and Development

(C) Khadi and Village Industries

Board

(D) Small Industry Development

Organization

40. In C3 plant, which enzyme first

reacts with CO2 to form PGA?

(A) Invertase

(B) Rubisco

(C) Oxaloacetate

(D) PEP

41. _____ dominate tropical and

subtropical grassland and

savannas and _____ dominate

the world’s cooler temperature

grassland region.

(A) CAM, C4 grasses

(B) C4 grasses, C3 grasses

(C) C3 grasses, CAM

(D) C3 grasses, C4 grasses

42. Pollen generation requires which

of the following elements?

(A) B

(B) K

(C) Ca

(D) Si

43. Lab to land programme was

started by

(A) NBSSLUP

(B) the Government of

Jharkhand

(C) Indira Gandhi

(D) ICAR

44. Sevagram attempt was started

under the supervision of

(A) F. L. Brayne

(B) R. N. Tagore

(C) J. L. Nehru

(D) M. K. Gandhi
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39. nmaßn[aH$ H•${f-AmYm[aV C⁄moJm| H$mo H$da H$aZo

dmbr gßÒWm h°

(A) H•${f _ßÃmb`

(B) Ï`mnma Am°a {dH$mg _hm{ZXoemb`

(C) ImXr Am°a J´m_mo⁄moJ ~moS>©

(D) bKw C⁄moJ {dH$mg gßJR>Z

40. C3 nm°Yo _|, H$m°Z-gm EßOmB_ g~go nhbo

CO2 Ho$ gmW A{^{H´$`m H$aHo$ PGA

~ZmVm h°?

(A) B›dQ>}O

(B) Í${~ÒH$mo

(C) Am∞ägmbmoEgrQ>oQ>

(D) nr0 B©0 nr0

41. _____ CÓUH${Q>~ßYr` Am°a CnmoÓUH${Q>~ßYr`

Kmg Ho$ _°XmZm| Am°a gdmZm na hmdr h¢ VWm

_____ Xw{Z`m Ho$ R>ßS>o Vmn_mZ dmbo Kmg Ho$

_°XmZr joÃ na hmdr h¢ü&

(A) CAM, C4 Kmg

(B) C4 Kmg, C3 Kmg

(C) C3 Kmg, CAM

(D) C3 Kmg, C4 Kmg

42. namJ CÀnmXZ Ho$ {bE {ZÂZ{b{IV _| go {H$g

VŒd H$s AmdÌ`H$Vm hmoVr h°?

(A) B

(B) K

(C) Ca

(D) Si

43. b°~ Qy> b¢S> H$m`©H´$_ {H$gHo$ ¤mam ewÍ$ {H$`m

J`m Wm?

(A) NBSSLUP

(B) PmaI�S> gaH$ma

(C) Bß{Xam Jm±Yr

(D) ICAR

44. godmJ´m_ ‡`mg {H$gH$s XoIaoI _| ewÍ$ {H$`m

J`m Wm?

(A) E\$0 Eb0 ~´m`Z

(B) Ama0 EZ0 Q>°Jmoa

(C) Oo0 Eb0 ZohÍ$

(D) E_0 Ho$0 Jm±Yr
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45. _____ and _____ observed that a

synthetic polynucleotide (Poly U)

directs the synthesis of a

polypeptide composed only of

phenylalanine.

(A) Sydney Berner, F. Jacob

(B) Marshall Nirenberg, J. H.

Matthaei

(C) F. Jacob, Carmen

(D) Alfred Hershey, M. Chase

46. The pest which attacks both in

field and storage of pulses is

(A) pulse beetle

(B) gram pod borer

(C) red gram pod fly

(D) pod borer

47. Four P’s of marketing mix is

given by

(A) Jerome McCarthy

(B) James Culliton

(C) N. H. Borden

(D) Philip Kotler

48. The factors like spacing of

plants, date of sowing and

breeds are often used as

(A) experimental units

(B) treatments

(C) replicates

(D) blocks

49. Crop growth rate is measured in

(A) g/m2/day

(B) mg/m2/day

(C) g/cm/day

(D) mg/cm/day

50. Net Farm Income (NFI) is

calculated by which of the

following expressions?

(A) NFI = Total Revenue – Total

Cost

(B) NFI = Total Revenue/Total

Cost

(C) NFI = Total Cost / Total

Revenue

(D) NFI = Total Revenue – Total

Cost/100
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45. _____ Am°a _____ Zo XoIm {H$ EH$

qgWo{Q>H$ nm∞br›`ypäb`moQ>mBS> (nm∞br `y) Ho$db

\o${ZbEb{ZZ go ~Zoo nm∞brnoflQ>mBS> Ho$ gßÌbofU

H$mo {ZX}{eV H$aVm h°ü&

(A) {gS>Zr ~Z©a, E\$0 O°H$~

(B) _me©b {Za|~oar, Oo0 EM0 _°WoB©

(C) E\$0 O°H$~, H$m_}Z

(D) AÎ\´o$S> hf}, E_0 MoO

46. Xmbm| Ho$ IoV Edß ^�S>maU XmoZm| _| AmH´$_U

H$aZo dmbm H$sQ> h°

(A) nÎg ~rQ>b

(B) J´m_ nm∞S> ~moa

(C) Aaha H$s \$br _äIr

(D) \$br N>oXH$

47. {dnUZ {_lU Ho$ Mma P {XE JE h¢

(A) Ooamo_ _°∏$mWu ¤mam

(B) OoÂg H${bQ>Z ¤mam

(C) EZ0 EM0 ~moS>}Z ¤mam

(D) {\${bn H$moQ>ba ¤mam

48. nm°Ym| H$s Xyar, ~wAmB© H$s VmarI Am°a ZÒb

O°go H$maH$m| H$m Cn`moJ Aäga _____ Ho$ Í$n

_| {H$`m OmVm h°ü&

(A) ‡m`mo{JH$ BH$mB`m|

(B) CnMma

(C) ‡{VH•${V

(D) „bm∞H$

49. \$gb d•{’ Xa _mnr OmVr h°

(A) J´m_/dJ© _r0/{XZ _|

(B) {_0 J´m_/dJ© _r0/{XZ _|

(C) J´m_/go0 _r0/{XZ _|

(D) {_0 J´m0/go0 _r0/{XZ _|

50. ew’ H•${f Am` (EZ0 E\$0 AmB0) H$s JUZm

{ZÂZ{b{IV _| go {H$g A{^Ï`{∫$ ¤mam H$s

OmVr h°?

(A) EZ0 E\$0 AmB0 = Hw$b amOÒd –

Hw$b bmJV

(B) EZ0 E\$0 AmB0 = Hw$b amOÒd /

Hw$b bmJV

(C) EZ0 E\$0 AmB0 = Hw$b bmJV /

Hw$b amOÒd

(D) EZ0 E\$0 AmB0 = Hw$b amOÒd –

Hw$b bmJV /100
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51. Phenyl pyrazole is present in

which insecticide?

(A) Fipronil

(B) Imidacloprid

(C) Dimethoate

(D) Malathion

52. The soil fertility gradient

approach was given by

(A) Murthy

(B) B. V. Mehta

(C) Ramamoorthy

(D) A. B. Ghosh

53. Which one of the following

causes more wastage of

herbicide by drift?

(A) Ultralow volume sprayer

(B) Low volume sprayer

(C) High volume sprayer

(D) Hand sprayer

54. The largest storage capacity

irrigation dam/reservoir is

_____, which is built on river

_____.

(A) Hirakud, Mahanadi

(B) Tehri Dam, Bhagirathi

(C) Sardar Sarovar, Narmada

(D) Indira Sagar, Narmada

55. What is the average

concentration of zinc element

in plants on dry matter weight

basis?

(A) 50 ppm

(B) 30 ppm

(C) 20 ppm

(D) 40 ppm

56. A Parshall flume works on the

principle of

(A) hydraulic jump

(B) hydraulic flow

(C) hydraulic drop

(D) uniform flow

57. The National Research Centre

for pomegranate is situated at

(A) Tiruchirappalli, Tamil Nadu

(B) Pune, Maharashtra

(C) Ajmer, Rajasthan

(D) Solapur, Maharashtra

58. Which plant is used for control

of blood pressure?

(A) Isabgol

(B) Mulethi

(C) Cinchona

(D) Vinca
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51. {\$ZmBb nmBamµOmob {H$g H$sQ>ZmeH$ _| _m°OyX

hmoVm h°?

(A) {\$‡mo{Zb

(B) B{_S>mäbmo{‡S>

(C) S>mB_oWmoEQ>

(D) _°bm{WAm∞Z

52. _•Xm Cd©aVm ‡dUVm —{Ô>H$moU {H$gHo$ ¤mam {X`m

J`m Wm?

(A) _y{V©

(B) ~r0 dr0 _ohVm

(C) am__y{V©

(D) E0 ~r0 Kmof

53. {ZÂZ{b{IV _| go H$m°Z-gm ~hmd ¤mam

emH$Zmer H$s A{YH$ ~~m©Xr H$m H$maU

~ZVm h°?

(A) AÎQ¥>m-bmo dm∞Î`y_ Ò‡o`a

(B) H$_ _mÃm dmbm Ò‡o`a

(C) CÉ _mÃm dmbm Ò‡o`a

(D) h¢S> Ò‡o`a

54. g~go ~ãS>r ^ßS>maU j_Vm dmbm {gßMmB©

~m±Y/Obme` _____ h°, Omo _____ ZXr na

~Zm h°ü&

(A) hramHwß$S>, _hmZXr

(B) Q>ohar ~m±Y, ^mJraWr

(C) gaXma gamoda, Z_©Xm

(D) Bß{Xam gmJa, Z_©Xm

55. ewÓH$ nXmW© ^ma Ho$ AmYma na nm°Ym| _| {µOßH$

H$s Am°gV gmß–Vm ä`m h°?

(A) 50 ppm

(B) 30 ppm

(C) 20 ppm

(D) 40 ppm

56. nme©b ‚by_ {H$g {g’mßV na H$m`© H$aVm h°?

(A) hmBS¥>m∞{bH$ Oßn

(B) hmBS¥>m∞{bH$ ‡dmh

(C) hmBS¥>m∞{bH$ S¥>m∞n

(D) g_mZ ‡dmh

57. amÔ¥>r` AZma AZwgßYmZ Ho$›– H$hm± pÒWV h°?

(A) {VÈ{MamnÑr, V{_bZmSw>

(B) nwUo, _hmamÔ¥>

(C) AO_oa, amOÒWmZ

(D) gmobmnwa, _hmamÔ¥>

58. a∫$Mmn H$mo {Z`ß{ÃV H$aZo Ho$ {bE {H$g nm°Yo

H$m Cn`moJ {H$`m OmVm h°?

(A) Bg~Jmob

(B) _wboR>r

(C) {gZH$moZm

(D) qdH$m
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59. The presence of stamens and

pistils in different flowers on

different plants is called as

(A) dioecious

(B) dihybrid

(C) monohybrid

(D) monoecism

60. Red colour of soils is due to

presence of

(A) sylvanite

(B) hematite

(C) magnetite

(D) geathrite

61. Neutron probe contains a source

material of

(A) radium-beryllium mixture

(B) americium-beryllium

mixture

(C) Both (A) and (B)

(D) None of the above

62. The rural systems research

idea was motivated by _____ in

the year _____.

(A) M. S. Swaminathan, 1998

(B) Dr. S. Radhakrishnan, 1978

(C) M. S. Swaminathan, 1988

(D) Dr. S. Radhakrishnan, 2004

63. The father of zoological

classification is

(A) C. Linnaeus

(B) P. A. Micheli

(C) Anton de Bary

(D) E. J. Butler

64. Root pressure is measured by

(A) manometer

(B) photometer

(C) barometer

(D) piezometer

65. Viruses that grow on bacteria

are called

(A) virions

(B) viroids

(C) phages

(D) prions

66. Bronzing of rice is caused due

to which nutrient toxicity?

(A) Mn

(B) S

(C) B

(D) Fe
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59. {d{^fi nm°Ym| na {d{^fi \y$bm| _| nwßHo$ga VWm

ÛrHo$ga H$s CnpÒW{V H$mo ä`m H$hVo h¢?

(A) S>m`mo{g`g

(B) S>mBhmB{~´S>

(C) _moZmohmB{~´S>

(D) _m∞Zr{g¡_

60. {_≈>r H$m bmb aßJ {H$gH$s CnpÒW{V Ho$ H$maU

hmoVm h°?

(A) {gÎdoZmBQ>

(B) ho_oQ>mBQ>

(C) _°æmQ>mBQ>

(D) JoW´mBQ>

61. ›`yQ¥>m∞Z Om±M _| {H$gH$m ÚmoV gm_J´r em{_b

h°?

(A) ao{S>`_-~o[a{b`_ {_lU

(B) A_o[a{H$`_-~o[a{b`_ {_lU

(C) (A) Am°a (B) XmoZm|

(D) Cn`w©∫$ _| go H$moB© Zht

62. J´m_rU ‡Umbr AZwgßYmZ {dMma df© _____

_| _____ go ‡o[aV Wmü&

(A) 1998, E_0 Eg0 Òdm_rZmWZ

(B) 1978, S>m∞0 Eg0 amYmH•$ÓUZ

(C) 1988, E_0 Eg0 Òdm_rZmWZ

(D) 2004, S>m∞0 Eg0 amYmH•$ÓUZ

63. ‡m{UemÛr` dJuH$aU H$m OZH$ H$m°Z h°?

(A) gr0 {b{Z`g

(B) nr0 E0 {_eobr

(C) EßQ>moZ S>r ~oar

(D) B©0 Oo0 ~Q>ba

64. OãS> X~md {H$gHo$ ¤mam _mnm OmVm h°?

(A) _°Zmo_rQ>a

(B) \$moQ>mo_rQ>a

(C) ~°amo_rQ>a

(D) nrµOmo_rQ>a

65. ~°äQ>r[a`m na nZnZo dmbo dm`ag H$hbmVo h°ß

(A) {dfmUw

(B) dmBam∞BS>

(C) \o$O

(D) {n´Am∞Z

66. Mmdb _| H$mßÒ` {H$g nmofH$ VŒd H$s {dfm∫$Vm

Ho$ H$maU hmoVm h°?

(A) Mn

(B) S

(C) B

(D) Fe
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67. The quantity of liquid insecticide

with 25% active ingredient

required for preparing 500 litres

of the spray fluid of 0·25%

strength is

(A) 1·25 litres

(B) 2·5 litres

(C) 5 litres

(D) 10 litres

68. What is the range of boron

hazard for medium boron

irrigation water for B3 class?

(A) 3–4 ppm

(B) 4–5 ppm

(C) 5–10 ppm

(D) <3 ppm

69. The Agriculture Produce and

Livestock Marketing (Promotion

and Facilitation) Act was

enacted in which year?

(A) 2017

(B) 2015

(C) 2013

(D) 2019

70. Central farm machinery training

and testing institute is located

at

(A) Anand, Gujarat

(B) Cochin, Kerala

(C) Karnal, Haryana

(D) Budni, Madhya Pradesh

71. What is the moisture deficit

index value for semiarid type

of climate, according to AICRP

on dry land agriculture?

(A) 0 to –33·3

(B) –33·3 to –66·6

(C) 0 to –66·6

(D) 0 to –22·2

72. Richmond Lang effect is

associated with

(A) auxin

(B) cytokinin

(C) ethylene

(D) GA

73. The production of one is possible

without the other but the

presence of one as positive effect

on other is called

(A) complementary products

(B) supplementary products

(C) competitive products

(D) joint products
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67. 0·25% e{äV Ho$ 500 brQ>a Ò‡o –d H$mo

V°`ma H$aZo Ho$ {bE AmdÌ`H$ 25% g{H´$`

gßKQ>H$ Ho$ gmW Vab H$sQ>ZmeH$ H$s _mÃm h°

(A) 1·25 brQ>a

(B) 2·5 brQ>a

(C) 5 brQ>a

(D) 10 brQ>a

68. B3 dJ© Ho$ {bE _‹`_ ~moam∞Z qgMmB© Ob Ho$

{bE ~moam∞Z IVao H$s gr_m ä`m h°?

(A) 3–4 ppm

(B) 4–5 ppm

(C) 5–10 ppm

(D) <3 ppm

69. H•${f CnO Am°a newYZ {dnUZ (gßdY©Z Am°a

gw{dYm) A{Y{Z`_ {H$g df© A{Y{Z`{_V

h˛Am?

(A) 2017

(B) 2015

(C) 2013

(D) 2019

70. Ho$›–r` \$m_© _erZar ‡{ejU Am°a narjU

gßÒWmZ {H$g ÒWmZ na pÒWV h°?

(A) AmZßX, JwOamV

(B) H$moMrZ, Ho$ab

(C) H$aZmb, h[a`mUm

(D) ~wXZr, _‹` ‡Xoe

71. ewÓH$ ^y{_ H•${f na E0 AmB0 gr0 Ama0 nr0

Ho$ AZwgma, AY©ewÓH$ ‡H$ma H$s Obdm`w Ho$

{bE Z_r H$s H$_r gyMH$mßH$ _yÎ` ä`m h°?

(A) 0 go –33·3

(B) –33·3 goo –66·6

(C) 0 goo –66·6

(D) 0 goo –22·2

72. [aM_ßS> b¢J ‡^md {H$ggo gÂ~{›YV h°?

(A) Am∞pägZ

(B) gmBQ>mo{H${ZZ

(C) E{WbrZ

(D) Or0 E0

73. EH$ H$m CÀnmXZ Xygao Ho$ {~Zm gß^d h° bo{H$Z

EH$ H$s Xygao na gH$mamÀ_H$ ‡^md Ho$ Í$n _|

CnpÒW{V H$hbmVr h°

(A) nyaH$ (H$m∞pÂflb_|Q>[a) CÀnmX

(B) nyaH$ (gpflb_|Q>[a) CÀnmX

(C) ‡{VÒnYu CÀnmX

(D) gß`w∫$ CÀnmX
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74. Solar energy treatment of wheat

seed is done for control of

(A) karnal bunt

(B) loose smut

(C) hill bunt

(D) ear-cockle

75. Seed drill and horse hoe were

introduced by

(A) James Small

(B) William Amos

(C) Jethro Tull

(D) Thomas Jefferson

76. Cryopreservation is done to

store cells/cultures, etc., for

a longer period at

(A) high humidity

(B) low temperature

(C) low humidity

(D) high temperature

77. The common form of DNA

present in the living organisms

is the

(A) A form

(B) B form

(C) C form

(D) Z form

78. An F1 plant with the genetic

constitution AaBbccDd is test

crossed with aabbccdd, there

will be

(A) 10 genotypes

(B) 8 genotypes

(C) 12 genotypes

(D) 4 genotypes

79. Advance sex formed in cucurbits

is

(A) monoecious

(B) dioecious

(C) andromonoecious

(D) hermaphrodite

80. Eluviation process takes place in

(A) O horizon

(B) C horizon

(C) B horizon

(D) A horizon
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74. Johˇ± Ho$ ~rO H$m gm°a D$Om© CnMma _____ Ho$

{Z`ßÃU Ho$ {bE {H$`m OmVm h°ü&

(A) H$aZmb ~ßQ>

(B) byO Ò_Q>

(C) {hb ~ßQ>

(D) H$mZ H$m H$m∞H$b

75. grS> {S¥>b Am°a hm∞g©-hmo H$s ewÈAmV {H$gZo

H$s Wr?

(A) OoÂg Ò_m∞b

(B) {d{b`_ A_mog

(C) OoW´mo Qw>Ñ

(D) Wm∞_g Oo\$agZ

76. H$mo{eH$mAm|/gßdY©Zmoß Am{X H$mo bß~r Ad{Y

VH$ gßJ´hrV H$aZo Ho$ {bE H´$m`mo-{‡µOd}eZ

_____ na {H$`m OmVm h°ü&

(A) CÉ Am–©Vm

(B) H$_ Vmn_mZ

(C) H$_ Am–©Vm

(D) CÉ Vmn_mZ

77. Or{dV Ordm| _| _m°OyX S>r0 EZ0 E0 H$m

gm_m›` Í$n h°

(A) A form

(B) B form

(C) C form

(D) Z form

78. AmZwdß{eH$ gßKQ>Z AaBbccDd Ho$ gmW

EH$ F1 nm°Yo H$m narjU aabbccdd Ho$

gmW {H$`m OmVm h°, dhm± hmoJm

(A) 10 OrZmoQ>mBn

(B) 8 OrZmoQ>mBn

(C) 12 OrZmoQ>mBn

(D) 4 OrZmoQ>mBn

79. H$‘ydJu` gp„O`m| _| A{J´_ qbJ Í$n hmoVm h°

(A) EH$ag

(B) S>m`mo{g`g

(C) EßS¥>mo_moZmo{g`g

(D) C^`qbJr

80. {ZjmbZ ‡{H´$`m _____ _| hmoVr h°ü&

(A) O {j{VO

(B) C {j{VO

(C) B {j{VO

(D) A {j{VO
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81. Copper sulphate + sodium

carbonate + water are the

constituents of

(A) Burgundy mixture

(B) Bordeaux mixture

(C) Chaubattia paste

(D) Cheshunt compound

82. Five stages of soil development

was given by

(A) Mohr and Van Baren

(B) Jenny

(C) Myers

(D) Hilgard

83. Which of the following soils is

called ‘flesh of soil’?

(A) Sand

(B) Silt

(C) Clay

(D) None of the above

84. The term ‘fourth generation

pesticides’ refers to

(A) anti-juvenile hormones

(B) juvenile hormones

(C) moulting hormones

(D) anti-moulting hormones

85. Eugenol is the important

chemical content of

(A) clove

(B) cinnamon

(C) cardamon

(D) all spices

86. The maximum profit can be

achieved in agribusiness when

marginal return (MR) is equal to

(A) total cost

(B) total output

(C) average output

(D) marginal cost

87. The term ‘damage threshold

level’ (DTL) is also used for

(A) Damage Boundary (DB)

(B) Economic Threshold Level

(ETL)

(C) Economic Injury Level (EIL)

(D) General Equilibrium Position

(GEP)
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81. H$m∞na gÎ\o$Q> + gmo{S>`_ H$m~m}ZoQ> + nmZr

_____ Ho$ KQ>H$ h°ßü&

(A) ~aJßS>r {_lU

(B) ~moS>m} {_lU

(C) Mm°~{Q>`m noÒQ>

(D) MoeßQ> `m°{JH$

82. _•Xm {dH$mg Ho$ nm±M MaU _____ ¤mam ~VmE

JE Woü&

(A) _moha Am°a dm∞Z ~°aoZ

(B) OoZr

(C) _m`g©

(D) {hbJmS>©

83. {ZÂZ{b{IV _| go {H$g {_≈>r H$mo "{_≈>r H$m

‚boe' H$hm OmVm h°?

(A) aoV

(B) JmX

(C) {MH$Zr {_≈>r

(D) Cn`w©∫$ _| go H$moB© Zht

84. "Mm°Wr nrãT>r Ho$ H$sQ>ZmeH$' e„X H$m AW© h°

(A) EßQ>rOwdoZmBb hm∞_m}Z

(B) OwdoZmBb hm∞_m}Z

(C) _mopÎQ>®J hm∞_m}Z

(D) EßQ>r_mopÎQ>®J hm∞_m}Z

85. `yOoZm∞b _____ H$s _hŒdnyU© amgm`{ZH$

gm_J´r h°ü&

(A) bm¢J

(B) XmbMrZr

(C) Bbm`Mr

(D) g^r _gmbo

86. gr_mßV [aQ>Z© (E_0 Ama0) _____ Ho$ ~am~a

hmoZo na H•${f Ï`dgm` _| A{YH$V_ bm^ ‡m·

{H$`m Om gH$Vm h°ü&

(A) Hw$b bmJV

(B) Hw$b CÀnmXZ

(C) Am°gV CÀnmXZ

(D) gr_mßV bmJV

87. "S>°_oO W´oemoÎS> bodb (S>r0 Q>r0 Eb0)' e„X

H$m Cn`moJ {H$gHo$ {bE ^r {H$`m OmVm h°?

(A) j{V gr_m (S>r0 ~r0)

(B) Am{W©H$ gr_m ÒVa (B©0 Q>r0 Eb0)

(C) Am{W©H$ j{V ÒVa (B©0 AmB0 Eb0)

(D) gm_m›` gßVwbZ pÒW{V (Or0 B©0 nr0)
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88. Which of the following

institutions has launched

a ‘Jaivik Bharat’ logo to

distinguish organic products

from non-organic ones?

(A) FCI

(B) NAFED

(C) FSSAI

(D) APEDA

89. In metapneustic

(A) only one abdominal spiracle

is functional

(B) only one thoracic spiracle

is functional

(C) one mesothoracic and

one abdominal spiracle is

functional

(D) no single functional spiracle

is present

90. Agrometeorological observatories

of agricultural universities

belong to which type?

(A) A

(B) B

(C) C

(D) D

91. The soil which has strong

erosion is classified under

(A) class II

(B) class III or IV

(C) class IV or VI

(D) class VI or VIII

92. Sindhu hybrid variety is a cross

of

(A) Neelam ´ Alphanso

(B) Alphanso ´ Neelam

(C) Ratna ´ Alphanso

(D) Alphanso ´ Ratna

93. The first soil map of India was

prepared by

(A) Schokalasky

(B) Ramamoorthy

(C) Govindaswamy

(D) Kothandaram
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88. {ZÂZ{b{IV _| go {H$g gßÒWm Zo O°{dH$

CÀnmXm| H$mo J°a-O°{dH$ CÀnmXm| go AbJ H$aZo

Ho$ {bE "O°°{dH$ ^maV' bmoJmo bm∞›M {H$`m h°?

(A) E\$0 gr0 AmB0

(B) Zo\o$S>

(C) E\$0 Eg0 Eg0 E0 AmB0

(D) EnrS>m

89. nÌMaßY´ (_oQ>mnZopÒQ>H$) _|

(A) Ho$db EH$ CXar` ÌdmgaßY´ {H´$`merb h°

(B) Ho$db EH$ dj ÌdmgaßY´ {H´$`merb h°

(C) EH$ _ogmoWmoa°{gH$ Am°a EH$ CXar`

ÌdmgaßY´ {H´$`merb h°

(D) H$moB© EH$b H$m`m©À_H$ ÌdmgaßY´ _m°OyX

Zhrß h°

90. H•${f {dÌd{d⁄mb`m| H$s H•${f _m°g_ {dkmZ

doYembmE± {H$g ‡H$ma H$s h¢?

(A) A ‡H$ma

(B) B ‡H$ma

(C) C ‡H$ma

(D) D ‡H$ma

91. {Og {_≈>r _| Vrd´ H$Q>md hmoVm h°, Cgo _____

Ho$ AßVJ©V dJuH•$V {H$`m J`m h°ü&

(A) H$jm II

(B) H$jm III `m IV

(C) H$jm IV `m VI

(D) H$jm VI `m VIII

92. qgYw gßH$a {H$Ò_ H$m gßH$aU h°

(A) Zrb_ ´ AÎ\$mßgmo

(B) AÎ\$mßgmo ´ Zrb_

(C) aÀZ ´ AÎ\$mßgmo

(D) AÎ\$mßgmo ´ aÀZ

93. ^maV H$m ‡W_ _•Xm _mZ{MÃ {H$gHo$ ¤mam V°`ma

{H$`m J`m Wm?

(A) emoH$mbmÒH$s

(B) am__y{V©

(C) JmoqdXÒdm_r

(D) H$moR>ßS>ma_
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94. According to NBSS&LUP, India

has been divided into how many

agro-ecological zones?

(A) 8

(B) 20

(C) 18

(D) 15

95. The botanical name of pear is

(A) Prunus persica

(B) Pyrus communis

(C) Prunus salicina

(D) Prunus domestica

96. Mohair is obtained from which

animal?

(A) Merino

(B) Angora goats

(C) Nagori

(D) Mehsana

97. Fruit cracking in apple is due

to deficiency of

(A) copper

(B) zinc

(C) boron

(D) manganese

98. The trade name for dimethoate

EC is

(A) Thimet

(B) Dursban

(C) Nuvacron

(D) Rogor

99. Dominant epistasis ratio is

(A) 9 7:

(B) 15 1:

(C) 13 3:

(D) 12 3 1: :

100. Which of the following is Indian

major carp?

(A) Labeo rohita

(B) Ctenopharyngodon idella

(C) Tinca tinca

(D) Cyprinus carpio
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94. NBSS & LUP Ho$ AZwgma, ^maV H$mo

{H$VZo H•${f nm[apÒW{VH$ joÃm| _| {d^m{OV

{H$`m J`m h°?

(A) 8

(B) 20

(C) 18

(D) 15

95. ZmenmVr H$m dmZÒn{VH$ Zm_ h°

(A) ‡yZg n{g©H$m

(B) nmBag H$Â`w{Zg

(C) ‡yZg go{b{gZm

(D) ‡yZg S>mo_opÒQ>H$m

96. _mohm`a {H$g OmZda go ‡m· {H$`m OmVm h°?

(A) _o[aZmo

(B) AßJmoam ~H$ar

(C) ZmJmoar

(D) _ohgmUm

97. go~ \$b H$m \$Q>Zm {H$gH$s H$_r Ho$ H$maU

hmoVm h°?

(A) Vm±~m

(B) OÒVm

(C) ~moam∞Z

(D) _¢JZrµO

98. S>mB_oWmoEQ> B©0 gr0 H$m Ï`mnm[aH$ Zm_ h°

(A) {W_oQ>

(B) S>g©~Z

(C) ZwdmH´$moZ

(D) amoJmoa

99. ‡_wI E{nÒQ>m{gg AZwnmV h°

(A) 9 7:

(B) 15 1:

(C) 13 3:

(D) 12 3 1: :

100. {ZÂZ{b{IV _| go H$m°Z-gm ^maVr` ‡_wI

H$mn© h°?

(A) bo{~`mo amo{hVm

(B) Q>oZmo\°$[aßJmoS>m∞Z AmBS>obm

(C) {VZH$m {VZH$m

(D) gmB{‡Zg H$m{n©`mo
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SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ
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25/AGS/M–2023–03 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

eÒ` {dkmZ
nÃ—I

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe
1. Bg ‡ÌZ-nwpÒVH$m  _| Hw$b 100 ‡ÌZ h¢ü&
2. g^r ‡ÌZm|  Ho$  AßH$  g_mZ h¢ü&
3. g^r ‡ÌZm|  Ho$  CŒma  X|ü&
4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s

˚m•ßIbm _w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gßª`m 30 Am°a 31) g{hV nyao 32 _w{–V

n•> h¢ Am°a H$moB© n•> `m ‡ÌZ Jm`~ `m {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _|

{H$gr ‡H$ma  H$s Ãw{Q> nmZo na VÀH$mb BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. `{X {H$gr ‡ÌZ _| {H$gr ‡H$ma H$s H$moB© _w–U `m Vœ`mÀ_H$ ‡H$ma H$s Ãw{Q> hmo, Vmo ‡ÌZm| Ho$ AßJóOr VWm {h›Xr Í$nm›Vam| _| go
AßJóOr Í$nm›Va H$mo  _mZH$  _mZm Om òJmü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo ‡ÌZ-nwpÒVH$m g{hV CŒma nÃH$ {X`m Om òJmü& AnZo CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ

_| AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm

Zht Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV H$mo>H$ H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
go AdÌ` Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma

nÃH$  H$m ghr _yÎ`mßH$Z Zht hmoJmü&

9. Bg ‡ÌZ-nwpÒVH$m _| g^r ‡ÌZ Am°a CZHo$ CŒma AßJóOr Edß {h›Xr _| _w{–V h¢ü& ‡À òH$ ‡ÌZ Ho$ Mma CŒmaçç(A), (B), (C)
Am°a (D) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& `{X
AmnH$mo Eogm bJo {H$ {H$gr ‡ÌZ Ho$ EH$ go A{YH$ CŒma ghr h¢, Vmo Amn AnZo CŒma nÃH$ _| Cg CŒma H$mo Aß{H$V H$a| Omo AmnH$mo
gdm}Œm_ bJoü& ‡À òH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _| Aß{H$V ghr CŒmam|
na {Z^©a hmoJmü&

10. CŒma nÃH$ _| ‡À òH$ ‡ÌZ gßª`m Ho$ gm_Zo Mma d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À òH$ ‡ÌZ Ho$ {bE
Ho$db EH$ CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _|
{ZemZ bJmVo h¢, Vmo AmnH$m CŒma JbV _mZm Om òJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr

Ò`mhr Ho$  ~m∞b-nm∞B›Q> noZ H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go
~mha H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m
AnZo gmW bo OmZo H$s AZw_{V  h°ü&

12. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm
AmnH$mo X�S>  {X`m  Om gH$Vm h°ü&

13. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr
narjmH$j  H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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